GENESEE COUNTY ROAD COMMISSION



Serving the motorists of Genesee County for more than 100 years

211 W. Oakley Street Flint, MI 48503-3995 Website: www.gcrc.org Board meetings: first and third Tuesdays at 10:00 A.M. Phone: (810) 767-4920 Toll Free: (800) 249-4027 Fax (810) 767-5373 – Administration Fax (810) 767-3634 – Maintenance

DATE: July 11, 2022

TO: Ace – Saginaw Paving Co. Ajax Paving

SUBJECT: Bid Tabulation 2022 HMA Resurfacing Proposal B-1 GCRC No. Various Various Townships

Enclosed, for your information, please find the "Itemized Bid" for the project referenced above that was bid upon by your company on July 11, 2022.

Sincerely, GENESEE COUNTY ROAD COMMISSION

Richard Hill, P.E. Design Department Manager

Enclosure

cc: EJ AP GG TK File

Our mission, as Genesee County Road Commission employees, is to collectively provide and maintain a safe, cost-efficient and quality county road system for the motorists in Genesee County, Michigan.

Bid Comparison

Contra Descri		2022 B-1 HMA Resurfacing				
Location: Projects(s):		Proposal Genesee County Primary F Moran (55-W50833), Duffield (175-V W50842), Grove Park (56-W50840),	/50829), Lennon (175-W50830), L	apeer Rd (78-W5035 vles (56-W50857), T	56), Atherton Rd (78-V hompson Rd (56-W50	V50357), Jennings (56-)358), Rolston Rd (56-W50359
Rank	Bidder		Total Bid	% Over Low	% Over Est.	
0	ENGINEEF	R'S ESTIMATE	\$3,924,637.20	-4.57%	0.00%	
1	(_2) Ace A	sphalt & Paving Company	\$4,112,850.20	0.00%	4.79%	

Line Pay Item Code	Quantity	Units	(0) ENGINEER'S	ESTIMATE	(1) Ace Asphalt & Company	Paving	(2) Ajax Paving Ind	dustries. Inc.
Description	•		Bid Price	Total	Bid Price	Total	Bid Price	Total
0001 3077021	28	Cyd	\$100.00	\$2,800.00	\$50.00	\$1,400.00	\$300.00	\$8,400.00
_ Trenching, Modified								
0002 3077031	342	Ton	\$40.00	\$13,680.00	\$70.00	\$23,940.00	\$90.00	\$30,780.00
_ Approach, Cl II, Modified								
0003 3077031	3,355	Ton	\$30.00	\$100,650.00	\$70.00	\$234,850.00	\$45.00	\$150,975.00
_ Shld, Cl II, Modified								
0004 4030005	2	Ea	\$750.00	\$1,500.00	\$1,500.00	\$3,000.00	\$3,800.00	\$7,600.00
Dr Structure Cover, Adj, Case								
0005 5010002	46,811	Syd	\$4.50	\$210,649.50	\$4.50	\$210,649.50	\$3.00	\$140,433.00
Cold Milling HMA Surface								
0006 5010008	12,797	Syd	\$8.00	\$102,376.00	\$4.50	\$57,586.50	\$5.30	\$67,824.10
Pavt for Butt Joints, Rem					-		-	
0007 5010025	5	Ton	\$150.00	\$750.00	\$500.00	\$2,500.00	\$500.00	\$2,500.00
Hand Patching								
0008 5010032	12,434	Ton	\$100.00	\$1,243,400.00	\$107.00	\$1,330,438.00	\$120.00	\$1,492,080.00
HMA, 4C			•	• • • • • • • • • • • •		• • • • • • • • • • • • • •		
0009 5010033	15,591	Ton	\$90.00	\$1,403,190.00	\$105.00	\$1,637,055.00	\$120.00	\$1,870,920.00
HMA, 13A	17	-		*• • • • • •	* ~~~~~~	# 44 750 00	\$	<u> </u>
0010 5010061	47	Ton	\$130.00	\$6,110.00	\$250.00	\$11,750.00	\$220.00	\$10,340.00
HMA Approach	050	T	<u> </u>	\$400 F00 00	<u> </u>	* 040 500 00	¢000.00	* 000.000.00
0011 5017031 _ HMA Approach, Driveway, N	950 Addition	Ton	\$130.00	\$123,500.00	\$230.00	\$218,500.00	\$220.00	\$209,000.00
0012 5017031	1,374	Ton		¢170.000.00	¢140.00	¢151 110 00	¢000.00	¢202.200.00
_ HMA Approach, Top Course		Ion	\$130.00	\$178,620.00	\$110.00	\$151,140.00	\$220.00	\$302,280.00
0013 6030014	249	Syd	\$5.00	\$1,245.00	\$15.00	\$3,735.00	\$3.00	\$747.00
Cold Milling Conc Pavt	249	Syu	\$5.00	φ 1,245.00	φ15.00	\$3,735.00	\$3.00	\$747.00
0014 8110024	494	Ft	\$3.00	\$1,482.00	\$2.50	\$1,235.00	\$2.50	\$1,235.00
Pavt Mrkg, Ovly Cold Plastic, 6		11	φ3.00	φ1,402.00	φ2.00	φ1,233.00	ψ2.00	ψ1,200.00
0015 8110041	168	Ft	\$5.00	\$840.00	\$5.00	\$840.00	\$5.00	\$840.00
Pavt Mrkg, Ovly Cold Plastic, 1			φ0.00	ψ0-10.00	ψ0.00	φ0+0.00	ψ0.00	φ0+0.00
0016 8110045	275	Ft	\$15.00	\$4,125.00	\$10.00	\$2,750.00	\$10.00	\$2,750.00
Pavt Mrkg, Ovly Cold Plastic, 2	-		¢10.00	ψ1,120.00	φ.0.00	Ψ2,7 00.00	φ10.00	<i>\\\</i> 2,700.00

Line Pay Item Code	Quantity U	Inits	(0) ENGINEER'S E	STIMATE	(1) Ace Asphalt & P	aving	(2) Alox Doving Indu	ustrias Inc
Description	Quantity 0	11113	Bid Price	Total	Company Bid Price	Total	(2) Ajax Paving Indu Bid Price	Total
0017 8110063	9	Ea	\$120.00	\$1,080.00	\$165.00	\$1,485.00	\$165.00	\$1,485.00
Pavt Mrkg, Ovly Cold Plastic, Lt Tur	n Arrow Sym					. ,		. ,
0018 8110071	8	Ea	\$120.00	\$960.00	\$165.00	\$1,320.00	\$165.00	\$1,320.00
Pavt Mrkg, Ovly Cold Plastic, Rt Tur	n Arrow Sym							
0019 8110074	3	Ea	\$250.00	\$750.00	\$230.00	\$690.00	\$230.00	\$690.00
Pavt Mrkg, Ovly Cold Plastic, Schoo								
0020 8110075	1	Ea	\$200.00	\$200.00	\$165.00	\$165.00	\$165.00	\$165.00
Pavt Mrkg, Ovly Cold Plastic, Stop								
0021 8110078		Ea	\$120.00	\$360.00	\$150.00	\$450.00	\$150.00	\$450.00
Pavt Mrkg, Ovly Cold Plastic, Thru A	Arrow Sym							
0022 8110231		Ft	\$0.10	\$17,378.40	\$0.10	\$17,378.40	\$0.08	\$13,902.72
Pavt Mrkg, Waterborne, 4 inch, Whi	te							
0023 8110232		Ft	\$0.10	\$11,280.80	\$0.10	\$11,280.80	\$0.08	\$9,024.64
Pavt Mrkg, Waterborne, 4 inch, Yell								
0024 8120245		Ft	\$1.75	\$1,403.50	\$2.00	\$1,604.00	\$1.45	\$1,162.90
Pavt Mrkg, Wet Reflective, Type R, Temp	Tape, 4 inch, W	Vhite,						
0025 8120246	7,764	Ft	\$1.75	\$13,587.00	\$2.00	\$15,528.00	\$1.45	\$11,257.80
Pavt Mrkg, Wet Reflective, Type R,	Tape, 4 inch, Y	ellow,						
Temp 0026 8127051	1 1	SUM	\$27,650.00	\$27,650.00	\$4,990.00	\$4,990.00	\$51,900.00	\$51,900.00
_ Maintaining Traffic, Atherton	1 6	3010	φ27,050.00	φ <i>21</i> ,030.00	φ4,990.00	\$4,990.00	φ 51,900.00	\$31,900.00
0027 8127051	1 1	SUM	\$4,150.00	\$4,150.00	\$1,870.00	\$1,870.00	\$14,900.00	\$14,900.00
_ Maintaining Traffic, Belle Vista		00101	φ+,100.00	φ-, 100.00	ψ1,070.00	ψ1,070.00	ψ14,000.00	ψ14,000.00
0028 8127051	1 1	SUM	\$5,280.00	\$5,280.00	\$1,540.00	\$1,540.00	\$8,100.00	\$8,100.00
_ Maintaining Traffic, Bowles		00111	\$0,200.00	<i>\\</i> 0,200.00	φ1,010.00	\$1,010.00	ψ0,100.00	<i>\\\\</i> ,100.00
0029 8127051	1 L	SUM	\$14,450.00	\$14,450.00	\$4,420.00	\$4,420.00	\$51,300.00	\$51,300.00
_ Maintaining Traffic, Carpenter		-	· · · · · · · ·	· ,	· ,	, <u> </u>	· · · · · · · · · · · · · · · · · · ·	,
0030 8127051	1 L	SUM	\$5,000.00	\$5,000.00	\$4,870.00	\$4,870.00	\$30,900.00	\$30,900.00
_ Maintaining Traffic, Center (Forest				-	·		·	-
0031 8127051	1 L	SUM	\$27,650.00	\$27,650.00	\$3,655.00	\$3,655.00	\$29,700.00	\$29,700.00
_ Maintaining Traffic, Center (Thetfo	ord)							

Line Pay Item Code	Quantity Units	(0) ENGINEER'S ESTIMATE		(1) Ace Asphalt & Pa	aving	(2) Aiox Doving Industries, Inc.	
Description	Quantity entite	Bid Price Total		Company Bid Price Tota		(2) Ajax Paving Industries, Inc. Bid Price Total	
0032 8127051	1 LSUM	\$2,500.00	\$2,500.00	\$3,730.00	\$3,730.00	\$10,200.00	\$10,200.00
_ Maintaining Traffic, Cottonwood							
0033 8127051	1 LSUM	\$20,150.00	\$20,150.00	\$4,260.00	\$4,260.00	\$43,300.00	\$43,300.00
_ Maintaining Traffic, Deland (N)							
0034 8127051	1 LSUM	\$7,850.00	\$7,850.00	\$4,795.00	\$4,795.00	\$43,900.00	\$43,900.00
_ Maintaining Traffic, Deland (S)							
0035 8127051	1 LSUM	\$11,810.00	\$11,810.00	\$4,525.00	\$4,525.00	\$17,500.00	\$17,500.00
_ Maintaining Traffic, Detroit							
0036 8127051	1 LSUM	\$6,450.00	\$6,450.00	\$3,850.00	\$3,850.00	\$16,900.00	\$16,900.00
_ Maintaining Traffic, Duffield							
0037 8127051	1 LSUM	\$27,650.00	\$27,650.00	\$4,540.00	\$4,540.00	\$30,600.00	\$30,600.00
_ Maintaining Traffic, Frances							
0038 8127051	1 LSUM	\$19,650.00	\$19,650.00	\$3,700.00	\$3,700.00	\$42,800.00	\$42,800.00
_ Maintaining Traffic, Grove Park							
0039 8127051	1 LSUM	\$25,750.00	\$25,750.00	\$4,540.00	\$4,540.00	\$30,600.00	\$30,600.00
_ Maintaining Traffic, Irish							
0040 8127051	1 LSUM	\$19,150.00	\$19,150.00	\$4,060.00	\$4,060.00	\$50,500.00	\$50,500.00
_ Maintaining Traffic, Jennings		•					
0041 8127051	1 LSUM	\$28,150.00	\$28,150.00	\$5,230.00	\$5,230.00	\$84,000.00	\$84,000.00
_ Maintaining Traffic, Lapeer		• • • • • • • • • • • • •		• • • • • • • • • • • • • • • • • • • •			
0042 8127051	1 LSUM	\$19,650.00	\$19,650.00	\$4,425.00	\$4,425.00	\$17,500.00	\$17,500.00
_ Maintaining Traffic, Lennon				· · · · - · -	• • • • • • • • • •		
0043 8127051	1 LSUM	\$12,550.00	\$12,550.00	\$4,345.00	\$4,345.00	\$30,400.00	\$30,400.00
_ Maintaining Traffic, Lobdell	4 1 0 1 1 4		<u> </u>	* 4 - - - - - -	<u>* 4 700 00</u>	<u> </u>	
0044 8127051	1 LSUM	\$2,500.00	\$2,500.00	\$4,780.00	\$4,780.00	\$30,800.00	\$30,800.00
Maintaining Traffic, McCandlish	4 1 0 1 1 4		<u> </u>	* ~ ~~~ ~~	<u> </u>	<u> </u>	
0045 8127051	1 LSUM	\$10,450.00	\$10,450.00	\$3,850.00	\$3,850.00	\$16,900.00	\$16,900.00
Maintaining Traffic, McKinley	4 10104	<u> </u>	* 0.400.00	*0 040 00	<u> </u>	<u> </u>	* 40,000,00
0046 8127051 Maintaining Traffic Moran	1 LSUM	\$2,400.00	\$2,400.00	\$3,810.00	\$3,810.00	\$10,300.00	\$10,300.00
Maintaining Traffic, Moran	4 10104	¢E 450.00	¢E 450.00	<u> </u>	¢2 500 00	¢40 000 00	¢16 000 00
0047 8127051 _ Maintaining Traffic, Mt. Morris	1 LSUM	\$5,450.00	\$5,450.00	\$3,580.00	\$3,580.00	\$16,600.00	\$16,600.00
		L					

Line Pay Item Code	Quantity Units	(0) ENGINEER'S E		(1) Ace Asphalt & P	aving	(2) Ajax Paving Ind	ustrias Inc
Description	Quantity onits	Bid Price	Total	Company Bid Price	Total	(2) Ajax Paving ind Bid Price	Total
0048 8127051	1 LSUM	\$28,950.00	\$28,950.00	\$5,620.00	\$5,620.00	\$36,800.00	\$36,800.00
_ Maintaining Traffic, Porter							
0049 8127051	1 LSUM	\$13,050.00	\$13,050.00	\$4,330.00	\$4,330.00	\$30,300.00	\$30,300.00
_ Maintaining Traffic, Reid							
0050 8127051	1 LSUM	\$27,650.00	\$27,650.00	\$4,795.00	\$4,795.00	\$17,800.00	\$17,800.00
_ Maintaining Traffic, Richfield (E)							
0051 8127051	1 LSUM	\$27,650.00	\$27,650.00	\$4,645.00	\$4,645.00	\$17,600.00	\$17,600.00
_ Maintaining Traffic, Richfield (W)							
0052 8127051	1 LSUM	\$11,550.00	\$11,550.00	\$4,480.00	\$4,480.00	\$30,500.00	\$30,500.00
_ Maintaining Traffic, Rolston							
0053 8127051	1 LSUM	\$19,650.00	\$19,650.00	\$5,200.00	\$5,200.00	\$67,700.00	\$67,700.00
_ Maintaining Traffic, Stanley		-					
0054 8127051	1 LSUM	\$15,150.00	\$15,150.00	\$5,965.00	\$5,965.00	\$18,900.00	\$18,900.00
_Maintaining Traffic, Swanee Beach							
0055 8127051	1 LSUM	\$11,250.00	\$11,250.00	\$4,180.00	\$4,180.00	\$30,200.00	\$30,200.00
Maintaining Traffic, Thompson			* 4 400 00	\$ 45.00	* 0.400.00	* ~~ ~~	\$11,000,00
0056 8167011 Turf Establishment, Performance-N	560 Syd	\$8.00	\$4,480.00	\$15.00	\$8,400.00	\$20.00	\$11,200.00
Safe, Special	to rtye, whome-						
0057 8210005	19 Ea	\$450.00	\$8,550.00	\$900.00	\$17,100.00	\$800.00	\$15,200.00
Monument Box Adj							
0058 8237050	1 Ea	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00
_ Water Manhole, Adjust, Modified							
0059 8257050	6 Ea	\$1,000.00	\$6,000.00	\$2,500.00	\$15,000.00	\$3,000.00	\$18,000.00
_ Sanitary Manhole, Adjust, Modified							
Bid Totals:			\$3,924,637.20		\$4,112,850.20		\$5,313,462.16